JDSF DanceSport Grand Prix in Sendai 2010 2010/09/12
The Result of Latin Final

Solo Dance(Paso Doble)

TES PCS(Original) Deduction Decision Total
1 2 3
[PB] L f| Dancing| . ] Long | Dress )
[Qm] [MM] [CcP] 0SS O 1]
Posture, Ps] Balance Delayed| Early Disconti time | Cord Deducti Total
Balance, Sgahtyuf Movement to Partnering Skl Choreography loss Fall start | finish connect| out of nuation Error Disconti Violatio TES PCS on points
. vement music and Presentation)| ion time
No |Judge Base Value Base Value Base Value Coordination nuance n
A 200 350 2,00 4,00 200 © 0 0 0 0 0 0 0 0 0
B . . . 5.00 500 550 500 500| 0 0 0 0 0 0 0 0 0 0
c 400 4,00 450 4,00 400| o 0 0 0 0 0 0 0 0 0
D IV=IIERE] || [EYSERRY] | [EY=0lesn 4,00 450 4,00 450 450 0 0 0 0 0 0 0 0 0 0
T e ME==AIrTFTE=l | (IS = | (=A== 450 450 450 450 500 o0 0 0 0 0 0 0 0 0 0 | 2600 [ 2300 | 000 | 49.00
F IWESOIINVE0] | [WESOJINVE0] |- [WE=CIINV=0] 450 500 500 550 500 o 0 0 0 0 0 0 0 0 0 ' ' ' ’
[FPE=Q] [FPE=Q] [FPE=0] : 1 2 : 2
G 5.00 500 550 500 500| 0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 9.00 8.00 9.00 4.40 | 4.60 | 4.70 | 4.60 | 470] 0 [ o T o T o T o e e e ['eoe [o
A 200 200 200 200 Z00] 0 0 0 0 0 0 0 0 0 0
B . . " 450 450 450 450 500 0 0 0 0 0 0 0 0 0 0
c 400 350 450 400 400| 0 0 0 0 0 0 0 0 0 0
D [BV=10][GD=0] | [BV=10][GD=0] | [BV=10][GD=0] 4,00 400 450 400 400 o 0 0 0 0 0 0 0 0 0
9 [WS=0]{HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0]
E MP=-TJNV=0] | [WE=O]INV=0] | [WF=0]INV=0] 400 400 400 400 450| o 0 0 0 0 0 0 0 0 o |l2800 [ 2100 [ 0.00 | 49.00
o S s0 40 s 45 4| o o o o o o o o o o
TS 0 0 0 0 0 0 0 0 0 0
Decision 9.00 9.00 10.00 410 4.20 | 430 410 | 430] 0 [ o [ o [ o [ o [T o [ o [ o [ o [ o
A 5.00 500 5.00 550 500] 0 0 0 0 0 0 0 0 0 0
B 5.00 450 5.00 5.00 450| 0 0 0 0 0 0 0 0 0 0
c m 8 9 450 450 400 450 400| o 0 0 0 0 0 0 0 0 0
D [BV=11][GD=0] ( [BV=10][GD=0] | [BV=11][GD=0] 5,00 550 550 550 550| 0 0 0 0 0 0 0 0 0 0
11 [WS=0][HPE=0] | [WS=-2][HPE=0] | [WS=-2][HPE=0] - ~
E TWE=OJNV20] | [WR=OJINV=0] | [WF=0J[NV=0] 5.00 5.00 5.00 5.50 500 -1 0 0 0 0 0 0 0 0 o |l2800 | 2550 [-100 | 5250
R i R | T I
TS 0 0 0 0 0 0 0 0 0 0
Decision 11.00 8.00 9.00 5.00 | 5.10 | 5.10 [ 5.40 | 4] -1 T o T o [T o T o T o [T o T o [ o [ o
A 550 550 550 550 600] 0 0 0 0 0 0 0 0 0 0
B 1 " . 5.00 500 550 550 550 0 0 0 0 0 0 0 0 0 0
c 550 6.00 6.00 550 600 0 0 0 0 0 0 0 0 0 0
D [BV=10][GD=0] | [BV=10][GD=0] | [BV=10][GD=0] 500 500 550 550 550| 0 0 0 0 0 0 0 0 0 0
15 [WS=0]{HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0]
E IWE=OJ[NV=0] | TWE=OJNV=0] | DWP=-TiNV=0] 550 6.00 6.00 550 55| 0 0 0 0 0 0 0 0 0 o |l2000 [ 2780 | 000 | 56.80
o )| | 5% s s s 6w o o 0 o o o o o o o
TS 0 0 0 0 0 0 0 0 0 0
Decision 10,00 10,00 9.00 530 550 | 570 550 | 580] 0 | 0 [ 0 [ 0 [ 0 [ 0 [ o0 ] o0 [ o0 T o
A 6.00 6.00 6.00 6.00 600 0 0 0 0 0 0 0 0 0 0
B 6.00 6.00 6.00 5.50 600| 0 0 0 0 0 0 0 0 0 0
c Ly o Ly 6.00 550 6.00 6.00 600| © 0 0 0 0 0 0 0 0 0
D [BV=10][GD=0] ( [BV=10][GD=0] | [BV=101[GD=0] 6.00 6.00 6.00 550 550| 0 0 0 0 0 0 0 0 0 0
19 [WS=0][HPE=0] | [WS=0][HPE=0] | [WS=0]{HPE=0]
E TWE=OJNV20] | TWR=OJNVZ0] | [WR=OJ[NV=0] 550 6.00 6.00 5.50 600| 0 0 0 0 0 0 0 0 0 o |[2000 [ 2970 | 000 | 5870
o iy | EE | R 600 60 6w e 60| 0 0 0 o o o o o o o
TS 0 0 0 0 0 0 0 0 0 0
Decision 10.00 9.00 10.00 6.00 | 6.00 [ 6.00 [ 5.80 | 500] 0 [ o [ o [ o [ o [ o [ o [ o [ o [ o0
A 5.00 5.00 5.00 550 500] 0 0 0 0 0 0 0 0 0 0
B “ " " 550 550 5.00 500 55| 0 0 0 0 0 0 0 0 0 0
0 .00 0 450 !
¢ [BV=11][GD=0] | [BV=10][GD=0] | [BV=11][GD=0] 500 50 500 5 5501 0 0 0 0 0 0 0 0 0 0
D = . = = = 5 550 500 550 550 500| 0 0 0 0 0 0 0 0 0 0
23 [WS=0][HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0]
E TWE=OJINVZ0] | TWR=OJINVZ0] | TWR=OJ[NV=0] 5.00 550 5.00 500 55| 0 0 0 0 0 0 0 0 0 o | 3200 [2570 | 000 | 57.70
F [FPE0] [FPE=0] [FPE=0] 550 500 550 500 55| 0 0 0 0 0 0 0 0 0 0
G 450 450 5.00 450 450| o 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 11.00 10.00 11.00 5.20 | 5.10 | 5.10 [ 5.00 | 530] 0 [ o [ o [ o [ o [ o [ o [ o [ o [ o0
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